\[/ °__ K TIyr N EE
ERSO0FE AE—F HBIRE—8%K R=LJIU— AR=PYZIVRLITU— S=259-H— T=F-IH9(LF—/{— A=PFIVY—
g | 8 e BRAZ AT ‘J“if paEs|  UvoEE NTEE S5 0808 %ﬂf?gﬁ e e R:AR S T A EBARAIR JOER
12 R AN =B |=8F HXE|WR HE| €F B= 118248
4| w 1600 | 1720 |1630 ~ 20:30| 1630 ~ 17:30| 1800 | 20:00 ]
B8R AN F_REE 280 AR JIERAN & | BAR {8 INg 1B X =)l « FAX S
 ]1530~2030 AR =® BlE |Ei5 BA KB ETF RIEES -
5| % 1720 [16:30 ~ 20:30| 1630 ~ 17:30| 1800 | 2000 |#&T%
AR WNIF EF
R JOBAKN & |=8 ME|PH B=Z| €£F B= . .
8| L ] 1520 (1430 ~ 20:30| 1430 ~ 1530| 1600 | 20:00 . . . X _ 118298 ONy hixE
hEER L FiE F_REZF 284 AR =8 BE |AfY = g B
SRHEIR . ) 13:30~20:30 AR Ih\T B | fBiE SA AB BF o . .
9| B =N 1520 1430 ~ 20:30| 1430 ~ 1530| 1600 | 2000 |7 L = 118278 EB SiE
AR FPH &fF
24| B (NvIF2+D AN, 7:40 715 ~ 930 715 ~ 745 815 930 |&=UL /AN R BA B [=F ME| AN = A &ZE 128178 FBHEAL | 8K 8
29| £ |1 00MEHEE 810 800 ~ 930 830 ~ 845 850 9:.30 F_REZE 7.00~10.00 R NI EF |AN = hHE = | MmiE &= 128198 ®RIAKED FAEE
1 FE_REDE R AN =B |=F HE|WR HE| €F B=
1340 1300 | 1430 |1400 ~ 1830 1400 ~ 1445 1510 1830 |87 13:00~19.00 AR JIRAKN & |MiEE & AR BF Y=
5| + |=#m - = 1258238 muAn | B8
AR FH &1 |EF SA
AR BRII=
F_RET R =& B |=8 MEB|WR M=E| €£F B=
9 | K |BhER 800 9.05 800 ~ 1300 830 ~ 915 945 1300 |®8T¥® |7:30~14:00 AR Ih\E | EE A g B 128128 9Ufy thiAE
AR BAR {8 AB EBF
R JURAKN & |=8 ME|PH 82| €£F 5=
9 | X |BRND 14:20 1420 [1300 ~ 1700| 1330 ~ 1430| 1500 1630 |8T#E |[&=U AR SONBEF | AN = AB BF KE FAAE
AR WIF EFI
R @ B |=% XE|WR XE| &F B=
16| X 1500 | 1650 |1530 ~ 20:30| 1600 ~ 17:00| 17:30 | 20:00 )
S SO L E-RHE 20/ AR BEHANE | @R B AB BT . R
1868 FRIEAEp NIFH
JRZTJ Y~ ) 15.00~20:30 AR AN =8B |[FHE SA g 1B
17| & 1650 1530 ~ 20:30| 1600 ~ 17:00| 17:30 | 2000 |#&T%
AR WNIF EF
19| £ (NvIFZ RO AN, 735 | 715 ~ 930 715 ~ 745 | 815 930 (=L /AN R B=K B | A = SARA 5| MEiE & 18128 AL | BK 8B
R =& B |=8 YE|PH | €£F B=
26| L 17:30 1720 | 1630 ~ 2030| 1645 ~ 17:15| 1800 | 20:00 5L AR KK = W
ABAR & y = 2 e -
27| 8 1720 |16:30 ~ 2030| 1645 ~ 1715 1800 | 2000 |7 .
AR FPH &1
2| 5| N |BARANERKR=S 1415 1335 [1330 ~ 1630|1330 ~ 14.00| 1415 1615 |8T#E |[&5U R RiE AR
=) \BILCH F—2EE 12:00~20:00 R JOBAKN & |=8 ME|WR M| €£F B=
BIRNFERE 14.00 1420 [1300 ~ 1800 1300 ~ 1330]| 1500 1800 |THE |EFZEREZE 1200~18: 00 |AR PH S |[BF SA|/NWE S| AR BF " N
9| x L 1R278 HERALS 8B
XA ERS AR =F A&
AR KNy =5 SUNEBETF
. . F_REZF (PFE) R DXEFE |=F MHE|PH BE| €£F B= .
9O | I |PERFTAE hiRE 1420 [1800 ~ 21.00]| 1345 ~ 1430| 1500 | 20:00 . thiAE
18:00~21:00 AR KN =B |[EFEHE SA g B 18288 O
L ‘ . ) F_REZFE (PEE) AR JIRAKN 5 |MEE & AB EBF =:18158 EIB .
10| B |=SREH A =& 1720 |16:30 ~ 20:30| 1630 ~ 1730| 1800 | 2000 |7 o SifE
15:30~20:30 AR FPHB <&fF
11 B INvIFZRO AN, 7:35 715 ~ 930 715 ~ 745 | 815 930 |xUL AN R BB AN = =) D) mE &= 2848 FRFBALE BA B
16| £ |H#ks 1720 11800 ~ ~ R B #B8 |=8F XE|PEB B | €F B= it
F— ) —ERILHFRIAR R PH % |=8 ME|WR MX=E| €£F B=
17| B8 [BINZ2ERS 820 820 | 730 ~ 1130 730 ~ 810 | 900 11:00 |#&7#® (U AR SJONHBEF |[EF SA SANBEF 18318 FREAZS B B
AR KNy =5
R =& B |=8 MEB|WR M=E| €£F B=
17 B 16:00 | 1720 [1630 ~ 2030| 1630 ~ 17:30| 1800 | 20.00 . . . .
L EoaH= 20/ AR STEAR 5 18K @ TEF3 B )
BERFIE . 28108 A0 NS
) 15:30~20:30 AR A K8 |ElE |A = %=
18| B 1650 |1600 ~ 2030 1600 ~ 1700]| 1730 | 2000 |®T*E .
AR PHB % AB EBF
AT — =
1 T | AT — =D 830 845 ~ 930 F—REZE 7.00~9:00
2 B [RT—FH=EO 830 ~ 945 |[BIBREKFR/\FE
121 8| £ |RT—FH=EQ 830 ~ 945
9| B |RT—-FH=E® 830 ~ 945
15| £ |[RT—FH=EO 830 ~ 945
16| B |ZRT—F#=E6 830 ~ 945 |BIBFEKFR/\FE
22| T (R —-FHZED 830 ~ 945
23| B |RT—FH=E® 830 ~ 945




